






Trigonometry

त्रिकोणत्रित्रि



•Trigonometry Table

•Trigonometry Formulas

•Trigonometric functions



Trigonometry Table

sin 0 1/2 1/ 2 3/2 1

cos  1 3/2 1/ 2 1/2 0

tan  0 1/ 3 1 3 ∞

cot  ∞ 3 1 1/ 3 0

sec  1 2/ 3 2 2 ∞

cosec  ∞ 2 2 2/ 3 1

 0° 30° 45° 60° 90°





If 00 < A <900 and Cos A =
𝟒

𝟓
then find the value of cot A + cosec A = ?

यत्रि 00 < A <900 िथा Cos A = 
𝟒

𝟓
िो cot A + cosec A = का िान ज्ञाि कीत्रिए।

(a) 9

(b) 3

(c) 5

(d) 1/3



If the angle A is in the first quadrant and tan A = 3, then what is the 

value of ( sin A + cos A ).

यत्रि कोण A पहले चिुथाांश िें है और tan A = 3 है, िो (sin A + cos A) का िान क्या

है।

(a)𝟏/√𝟏𝟎
(b) 𝟑/√𝟏𝟎
(c) 𝟒/√𝟏𝟎
(d) 𝟓/√𝟏𝟎



If  Sin x + Cos x = 1 , then find the value of sin x cos x = ?

यत्रि Sin x + Cos x = 1 है, िो sin x cos x का िान ज्ञाि कीत्रिए।

(a) 1

(b) 2

(c) 0

(d) 3



If  Sin A Cos B = √𝟑/𝟒, then find the value of sin4 A +cos4 B = ?

यत्रि Sin A Cos B = √𝟑/𝟒, िो sin4 A +cos4 B = ? का िान ज्ञाि कीत्रिए।

(a) 1/16

(b) 9/16

(c) 5/8

(d) 1/3



If  tan A = 𝟒/𝟑, then find the value of    (   𝟏−𝒔𝒊𝒏A )/(  𝟏+𝒔𝒊𝒏A)      = ?

यदि tan A = 𝟒/𝟑, , तो (   𝟏−𝒔𝒊𝒏A)/(  𝟏+𝒔𝒊𝒏A)  का मान ज्ञात कीदिए ?

(a) 1/5

(b) 4/5

(c) 5/8

(d) 1/9



If  sec2 x + tan2x = 7 , then find the value of  x ?

यत्रि sec2 x + tan2x = 7 , है, िो x का िान ज्ञाि कीत्रिए ?

(a) 30

(b) 45

(c) 60

(d) 90



Find the value of िान ज्ञाि कीत्रिए।

[(sin59°cos31° + cos59°sin 31°) ÷ (cos20°cos25° - sin20°sin 25°)]?

a) 1/√2

b) 2√2

c) √3

d) √2



If  sin( x + 340) = cos x  and (x + 340 ) is acute , then find the value of  x ?

यत्रि sin( x + 340) = cos x और (x + 340 ) न्यून है, िो x का िान ज्ञाि कीत्रिए

(a) 360

(b) 460

(c) 280

(d) 560



Evaluate cos 10 cos 20 cos 30 ……………………………..cos 1790 cos 1800.

ज्ञाि करे cos10 cos 20 cos 30 ……………………………..cos 1790 cos 1800 

(a) 1

(b) 0

(c) 2

(d) 3



Evaluate tan 10 tan 20 tan 30 ……………………………..tan 890 .

ज्ञाि करे tan 10 tan 20 tan 30 ……………………………..tan 890 .

(a) 1

(b) 0

(c) 2

(d) 3



If  Sec A+ Tan A= 2 , then what is the value of Sec A= ?

यत्रि Sec A+ Tan A= 2 , है, िो Sec A का िान ज्ञाि कीत्रिए।

(a) 1/2

(b) 3/4
(c) 5/4
(d) 5/2



The numerical value of  (िान ज्ञाि कीत्रिए )

𝟏

𝟏+𝒄𝒐𝒕𝟐A
+  

𝟑

𝟏+𝒕𝒂𝒏𝟐A
+ 2 sin2A  will be 

(a) 2

(b) 3
(c) 5
(d) 4



Find the value of िान ज्ञाि कीत्रिए।

{(5cot230° – 2cos260° – 3) / (2sin245° + cot245°)} × (cosec245° × sec245°)

a) 23

b) 30

c) 34

d) 21



Find the value of िान ज्ञाि कीत्रिए।

[tan(90 - A) + cot(90 - A)]2/[2sec2(90 - 2A)]= ?

a) 0

b) 1

c) 2

d) -1



If  sin(A+B)= 
√𝟑

𝟐
and cos(A−B) = 

√𝟑

𝟐
then which of the following will be possible values of A and B 

िब त्रनम्नत्रलत्रिि िें से A और B के कौन से संभात्रिि िान होंगे??

a) A = 45°, B = 15°

b) A = 45°, B = 30°

c) A = 10°, B = 45°

d) A = 50°, B = 10°



If (यत्रि)

16 cot A = 12, then find the value of (का िान ज्ञाि कीत्रिये।)
𝒔𝒊𝒏 𝑨+𝒄𝒐𝒔 𝑨

𝒔𝒊𝒏 𝑨 −𝒄𝒐𝒔 𝑨
= ? 

a) 5

b) 8

c) 6

d) 7



What is the value of का िान क्या है?

sin 24° sin66° - cos24° cos66° + tan24° tan 66° - cot 24° cot 66°

a) 0

b) 1

c) 2

d) 3






